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A.P. Calculus AB 2.2-2.5 Review Session Problems (WS #4) j

1) Consider the curve given by x* — xy + y? = 4,
a) Find the two points on the curve at x=0
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c) Use Z—ito find the slope of the lines tangent to the curve at the points found in part a.
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5) A particle moves along a straight line according t
real numbers in meters per minute

a) Find the velocity and acceleration function
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b.) Find when the particle changes direction
(justify with because statement)
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c) Determine interval when particle is moving
left (justify with because statement)
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d) Determine interval when particle is moving 5,’.’7" 7
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e) Find the average velocity of particle in interval
[1, 3] (show work, include units)
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‘f) Find the average acceleration of particle in
interval [1, 3] (show work, include units)
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i) At t = 2, is the speed increasing or
decreasing? Provide justification for your answer.
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j) Att =75, is the velocity increasing or
decreasing? Provide justification for your answer.
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